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(A) 14 = 3. (B) 19 : 4, (C) 24 : 5. (D) 29 : 6.
5. Suppose [« ] represents the greatest integer no larger than real number x. Then the
number of the integer solutions to the equation [3x% 4+ 52 ] =2 is ( )
(A) 0, (B 1. © 2. (D) 4.
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7.8 HRE f () =] | T o Wy =2 (x) —bf(x)+1H 84
P —6x +4,x > 0.

AT B0 % A U S b B BUIEL Y L2 )
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9. BM ¢ BHEHLAHIT 2 + 3" — 22 +1 =¢ | 3x —dy | IR I ZMGE L W ¢ #9H

(A) (o%) (B) {oﬂ © (oé} (D) {oé)
10. B0 AABC , WHHSE 24 HES sinA L cosA Hil tanA W w] & AT — 425 He ) A
fi A BIR/NBFIXEC D
A (0.7). @ (. 7). © (5.%7). ® (°Fx).
A BETFBCEAA S E A0 5
1A% 4 > 20 + 2 R
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12. CHRE f () =] . 0 £(2015) =
fx—1 —f(x—2),x >0.
13, bbd e il 2° IR/ 45 R0 ¢ 200 GV < R =T0 1k e A B AR aed R

14, KR i A 0 510 o JIrsi i) M3 0 0 cosd = .

15. A IESEH o 56 MR B 53 B/ INEIGHR 43 40 L 55 228080 ] @ =

16. 800 |a <1, |06 |<<1, | e |<< 1,0 ab+ be + ca BBUHE L F 2 .

17.88M m.n € N, H 1<<m,n <100, WEH] {4m + 1} 5{6n — 3} B9 BT A A8 [ 0 1) F1 A4

18. lglib& y :% E’J{Eiﬂﬁm

. . b
19. FIEH @b 2 2 + b =10 T MR .
20. Given a parabola C:y* =4x. Points A(4,4), P, and Q are on the parabola. If the sum

4
of the slopes of AP and AQ is 3 then PQ is supposed to pass through a fixed point D. The

coordinate of D is . (32233 # . parabola #4 & ;slope 4} % ;coordinate 4 4R)
=BAETT NS 5,4 40 H.)
21. K%L y =sinx + sine IR KEZE s e /IME 2 .
PREL y =" — 62 +8 +/8+6x — 2 M LR NiEs: % .
23. K7 ABCD-A'B’'C'D" & WM £ P.Q.R. X .Y . Z AW —4 T A B /Y

N AR Sy TR N RN N R [ s )
24, B a, ) PRSI ES, HA a, =4.a’y, +a’ +81=18Ca,  +a,) +2a,1a,. Wa, =

o, =
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